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Que. No. 001-300 (General Studies 1-100 AOW + Concerned Subject 101-300 AOU)
Publish Date 16-12-2020

Last Date to Send Suggestion (S) 23-12-2020

Instructions / ¥Aeil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.

GHedIR oflAeil Yol Uldel scloil d3el] Avid], Boell ditl-Uel i) 539 231d] tla
Qqiel &l
(1) GRedR ditll-YUell (ud S #4199 ditl-yUel Ustsefl % sdlell 2.

(2) gilsﬁu% Ll%_llw-ll@ ditll-YAeil % Sl deA L2 U URied €A [Hud dittl-ydst UnAsell sl sl o
ISR

(3) GReAR Uldla Ulatiti HAG UsY RdsIHi U6 YslsHIS Yo ditll-YUell 2% ol Sl dHIH ditll-
YUst] A2 U URied = Ulldaeid w12 S1 (HI12R UBUA)stl WS SHIS Yool Ao d e
% 5ql.

(4) HIRe UUA Hi [SLER Ut w4 [dsey [Rdldell ditl-YYst dla) AdHi 414 «1&].

(5) GRLAR B UBlail [A5EU YR ditll zaq 536 O el [A5@ Y % i[04 ﬁ%aq 8 2 %oy GRed R Uldlefl
GriRdIHi wiUd sldl %2, GHedIR YUdd %allod we Griaeledl osaliod (@at s2l dl GHedR %
539 dlitl-YYUel liHi Q9] i&l.

GRENERIERNEL qiul-q[uei e qmzci.a[ﬂs o ditll-yUel UAAsHI A 52l ad R usllefl 29g2d1d 534
&2l dl d 243lell ditl-YUell edlel 4alQl oAl



001.

002.

003.

004.

00s.

006.

007.

dorndHi el e L WM ARl Yl ......... viid A 1 8.
(1) arstg 4le:

(2) i1l A

(3) %URLGHL AHASTU W35 URY 5HI (Ashok Rock edict in Junagadh)
(A) WA 1 244 3 (B) 1A 2 24 3
(C) A 1 244 2 @3

A0 U4 5y [Qannysa [l a6 ?

(1) Wel-Al-cua 2 wedld, g 6.

(2) A GiR AdH 2uddl 8.

(3) d Sarlls st g1 ol 2udl gdl.

(4) d UNESCO [d#1 aurau 2 (World heritage site) €.

(A) A 1, 3 24 4 (B) WAL 1, 2 241 3
(C) WA 2,3 411 4 @11, 29114
2 WA 5y 1 ypAnd] wdlaan Hle 69 ?

(A) G151 @-iu

(C) AlH-uY (D) gHdl (Ghumli)
DA UL £y [Qenqt Aca el ?

(1) WO (35 YA )2 AIRARZ A7 549U UvALd 69,

(2) QR U2 Bl3L U Yl eald 8.

(3) ucdl ucaR YA g2uld 6.

(4) Acdl ueaR 2 8-l 2020 sl 2ud 69,

(A) W= 1 24 2 (B) H1AA 1 244 3
(C) WA 2 241 4 @2 3 21 4
oMl AL UL suL 20 ) AALey 90 69 ?

(DHasRR  2)duan  G)diaa @) Al

(A) WA 1 244 2 (B) 1A 2 244 3

(C) WA 3 21 4 @ 1214

UEIR uSdrll @aAARA galad, Uasiau sui vudy 8 ?

(A) 3ae @ s

(C) Meuauns (D) Gua-l W4 visuwt Al
YARUAHI ... 290 82+ €latdl U 2uR:AL5IH WuAld €9,

@201 -l uza (B) GriR ol [@dR

(C) Alrg-l ek (32 (D) &8 9porRnasil $aum (AR
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008.

009.

010.

011.

012.

013.

014.

015.

A U 51 A0 BodEHE BeAlbid HeIH YgHl e AL ABA SRAAUL 8l ?
(A) gc{[m{ (Turvasas) .2\1‘8[2{ (Sudasa)
(C) YAl (Pururavas) (D) 48 (Druhyu)

GULBIRL, AU, AU A Ygrll A% il AEH g2laAl 2l YW Yl Gedu 1od gl suL Hin (Yaels)Hi
$AML 20U 8 ?

(A) WaH H3n (Yds) (B) (gl Han (yzas)

(C) AL {3 (Yaeis) @z vz (yras)

21 U4 sul olien a2l 24 BuEiy gIRL AN 2udd -l ?

(A)Alg-ie (B) A1yt usw

(C) 4™ RA . [Elgy‘-ﬂ‘-ll:’l (Visuddhamagga)

Pala Rioasim el ouoid - WAl sy/sai [Qaqydan-l ac ¢ ?

(1) 20 us-l Rssi Al [Quaarg 24 wsiaq ol 44l ueuldd sd.

(2) 20 SR Rssiu A olld 29 disula saaudui sAa ua 6.

(3) 20 us1-l Rssim Al 2 219 dl 244 ouL ¢ld Qs Al undl 2ud 9.
(A) WL 1 244 2 (B) 1A 2 244 3
@223 (D) Gua-u UA sy Al

(2514 (Painting)-l ¢4-€l 2uvn (Bundi School of Painting) tuotd - U8l sy (A / sa [Qan-il
A ?

(A) RAsH-l op€l 2uvn (Bundi School of Painting) 1 Haa Adl- [R5 018 oue doiy qaadl
Sl

(B) 20 WU AEIR Aruld 2 uAuLeds A 244519 (Dramatic night skies) #1212l cua@sal
gald €9,

@) au (B) i
(D) (A) ¥ (B) 2Asusl sl
AU VA 56 alFaal Furd 81R wd curdly Al - s30 edl ?

(A) AN, i, A (B) AlAll gEUA

@1 Brerd ol (D) YN 1L

@Rd ([Ry el [2a12) 2 $2u A0S (Achaemenid) WHAAL HRLSAL A ........... Ayramigl
R A 8,

.éalsiga (Herodotus) (B) oyl (Mogasthenes)

(C) Yy (D) Aaoflell

DA U4 s o0 251 G Sl v dl, Hew AR 244 e g Aie - Aust fa
qu?

(A) 33lu™ (Darius) .QQ&O&[\SQ (Alexander)
(C) gell (Hunas) (D) Gua-l W4 visuwt 1l

AOW -A | 2 [ Contd.
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016. 3L oll.2uR. Aitiss (gl DA WA 5y [Qanq / s (Al aea €9 7
(1) An8L €3 254 215 SH-ilsn vuddll siseed Gl wd 539 e dl.
(2) AHRL 1920 Hi Hs uus (Mook Nayak) Mg s2a1-l a32ud 530 edl.
(3) d AAHL UL A1 ASUAAL Sl
(4) dnal U BUSHYL AUE (Aryan Invasion Throry) (AIT) -l [QR14 sul gdl.
(AW 1,2 24 3 (B) {12 1, 3 211 4
(C) WA 2, 3 x4 @2 324

017.  »PRA-HYR Yl (Aol DA A 53y (At / sui [l e 8 ?
(1) MaH PRAL-HYR Yruul Seidl (Aol 2l gl
(2) tlloani Qlyt Aell (Baillie) Sucl Sdl.
(3) o oal- Ay Yeaui Ay 1l -l sul 8dl.
(4) Al HAL-AYR Yraui Ay Wl o g,

(AW 1,2 24 3 (B) H1AA 1, 2 i1 4
(C) WA 2, 3 x4 @2, 324
018.  wEl-T A AT A1d ASl.
wel-1 wel-11

(1) UHD ™ aul (a) QL@,:],HI%S Hlo31uAl AML (Rahanumai Mazdayasanan Sabha)
(2) A18AUD HAUI  (b) WL A
(3) RIFD SREID  (c) MRAl AHRA
(@) uaens Nass (d) ud [ 244 gonRryd st Aacy uR i @vil
(A)1-a, 2-b, 3-¢, 4-d @1-c2-d43-24-0
(C)1-b, 2-¢, 3-a, 4-d D)1-b, 2-¢, 3-d, 4-a
019.  AuA duAsAUI-TIT (A2l DA WS sy (A / s [l a8 ?
(1) AH8L 85 2is w3l e 531 edl.
(2) AHEL AUAH AUd HSd 2 522Uld WaAs Qe ema sy,
(3) AHE ugIReA AADAA YRR 2tis 61131, asisar-d au-n s3.
(4) dAHBL 1916 Hi a3l AU U0l 22u- 530 el
(A) WA 3 (B) H1AA 3 244 4
@ 1,214 D) 1,2,3 x4
020.  HSRLYRUAA Aiglar cuoid DA UL sy (A / san [l ae & ?
(1) Hou8 A% You-llaA 21401 A%U-l dRFSAHE Sl
(2) 8 V2122, 1956 UL A% S SIGA, AAgUAN, HAHELIUE vid avu [Qensllzi adle a.
(3) [A214 calam W2 S-gaud wlsts 1957 - yruani Aeellui asu .
(A) HA 1 244 2 @2
(C) A 1 241 3 (D) 1,2 %43
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021.

022.

023.

024.

025.

026.

027.

028.

029.

030.

Aersiell 2@uAs um ulRne 1934 wi .......... A 2uviail 86m A% g1 SAN2A agarll ouoia-l (A4
sui gdl.

(A) FHALAA AN (B) s¥q0u il

@ i 2o (D) Gua-u UA sy ]

HEHE BRI o LeH As(As Al sl gl 24 df un vedlA ... sy e,
(A) glddieue (B) 2udlmy

@ si0ue (D) HSHEIOUE

RURAHE (22 wan g3 AAANI (Ryotwari) Utld sra scumi Al U4 st Asmda san ?
(M) dis sl (2) 2Asn- A3 (3) AHA YR

(A)HA 1,243 @223

(C) WA 1 24 2 (D) WA 1 244 3

2l WAl s 2uleadl sinarg Yoa 51200 24 Wi oll@eit u-i wldsid gdl ?

(A) d0& tinal (Santhal uprising) (B) {31 ti1all (Munda uprising)
@-i: c1al (Khond uprising) (D) Gua- UA sy ]

i fluig A2 du-l aa sl e He Hi AL UL su1 sincun Wudld oirledl Sl ?
(A) ¢lla synal (B) 320YR 21 lUyR tinall

(C) [Bray 14 oflegu tinal @A sl

$2RAL (Misgovernance) il o181l 850 [B18laL ua-t git - WS suL AL was AruHiddl €2
SAML UL Sl ?

@ (B) 212l

(C) ~uay (D) AdIRL

AR 1916 L QUi AAHE DAL UL sUL i ad2a g ?

(A) FUSRAIA A83 @ -va cicuas [aas

(C) Hidlena «83 (D) HE-L HigH Halda

OMR U3 -un g e ?

.Optical Mark Recognition (B) Original Mark Recognition

(C) Original Marking Registration (D) Optical Mark Registration

il Wdl-u 31%32%{1-1{ (Fourth Generation Computers) H¢Zl wiAflor 2udla flren (Multi
Processing Operating System) cX I Al xuaui H5LUL Sal.

(A) Serial Programming Languages (B) Parallel Programming Languages

.Concurrent Programming Languages (D) Time Sharing Programming Languages

[212151 112 National Digital Infrastructure d3l3 s1d $3 d W2 A1 WA s widadl -1 sl
2l 69 ?

(A) HLELA @ wiia
(©) Ras (D) Gua-1 W4 visunt -l

AOW -A | 4 [ Contd.
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031.

032.

033.

034.

03s.

036.

037.

038.

g1 [Rang @ .......... S / Sl

(1) Al 125 A g2+ 3D atlas dAIR $2ql.

(2) Chemical mapping g2\ [Ala4 a2u-{lu 254l 2imal,
(3) ds Ulu3L (Lunar Crust) -l 23U YAl scu4i Hee3u ag.
@223 (B) H1A 2 1 3
(C) WA 1 24 2 (D) HA 1 244 3

Cloud -tH58L (Nomenclature) AA70UR DR 3?;!; | low cloud ¢ ?

(A) Cirrocumulus (B) Cirrostratus

(C) Altocumulus .Nimbostratus

Landfill s3Q4idl .......... opendl s 8.

(A) sedl Ay (B) nuélsd ugledlum cary

@-vaisin (D) Guz-u U4 siSun

yedll 53 uldidl erueisaumi $2d1 Guad d-l Glaus naadl siu e, Guasl G i .......... Rl
QRS saHi »ud 6.

(A) Pitch (B) Roll

(C) Yaw @cuzu aun

Guas-l muwsan 5 % yedl-l [Ayagnd uxidR 21 d-l Gu 36000 (3.4l G 2uddl 8 d
.......... PRETURS!

(A) acﬂll (Polar) (B) Oj@sfﬂd (Geocentric)

.01&21141 (Geostationary) D) Oj.g,@-l:‘:l[@ls (Geosynchronous)

D2l-u W sul Glod w2 A cudni Alell ay uedla Qo Geulg 52 8 ?

(A) S15AUR (B) 2i

(C) dIRIYR @::1san

DRDO gI2L 12 YA 2Ud¢ “Mission Shakti” o yvuu ia g ¢ ?
.zqég[l A2 e Hlada udlaw (Indigenous anti-satellite missile testing)
(B) Brahmos-II s1aui-ls Et) Hlauda ula (Brahmos-II hypersonic cruise missile)

(C) el ustas asius [Qaun “Tejas” development (Indigenous Light Combat Aircraft “Tejas”
development)

(D) 2agall URHLEYL Aal&a aeudr s (Development of indigenous nuclear powered
submarine)

WBETRE Sﬂ 2 DRDO -l Integrated Guided Missile Development Programme (IGMDP) iddld
[Asmani >1dd, “Short range surface-to-surface ballistic missile” ¢ ?

(A) -2l @
(C) g (D) A2

AOW -A | 5 [ P.T.O.
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039.  NAUUA 58 Al wlou dd AL €9 ?
(1) AU — HEEy (2) Nl — damRud (3) s — saues (4) AR — HUBA
@122 (B) HiA 1 21 3
(C) W= 1 241 4 (D) 1,2,3 21 4
040.  drRud-l elRau (Brui-i Aerrl A 52990l ulfan ugieg Yl [Aaden 8. Nl Ul 5§ gl 24 20
HelriHidl ag 8 ?
@voud), el 2 andd (B) Ul 14 g1
(C) £%0 24 5195 (D) U], AHEL 2 dwdl
041.  Orud-ll arel ol suoid Na-n WA sy [Qart / s [Qu-l ace € ?
(1) 2011 -l azell 2Rl 2uR dernd-l azdl oNadi 308 €.
(2) 2001 Hi yAdAl adl 2N 290 dl.
(3) 2011 Hi -l Al A (R azedl-l 4.99 Uldgid ¢ HRLA €9, 2001 Hi d 4.93 Uldad Sl

(A)1,2 %43 (B) 1A 2 244 3

@ 12413 (D) 1A 1 244 2
042. DA AA 56 1€l Aarna-l Alell @iofl 1€l ?

(A) 481 20U @:2

(C) 3uw (D) y&u

043. -l ol euotd DA WA sy Qe / su Q- aca 8 2
(1) #le93) S10fl o3l 21 AlAvgiL GLA1EELS AN (Trap) widl [Asd) €.
(2) Slescll 510l il 24 v A orl A Youed AUHL o HAHL 2URAG (Loam) sl €9,

(3) U ¥l vo sgU 8L 69,
@ 12112 (B) {A 1 21 3
(C) A 2 A1 3 (D) 1,2 ¢4 3

044. 94 Ball #él vi-ley (Ball clay mineral) toid 12w WSl 54 [Qanq / sui [Qau-l a6 ?
(A) 62 sau-ll Ball HIEL 2 YaHi Guasy .
(B) %1 2 Ball clay -1t Geurg i A2 Alell wial 9.
(C) (A) a2 (B) b
@ 1) »aa (B) Hsun 1l
045.  9RAdHi FoLdl bioid DA WA 58 oAl uloy Ad oAl ?
(1) Guat s26iHlu Gloraron wiAwR ofadl — asigll, udaun, wawdl
(2) Guat slRoidlu Yos Wi Fodl — M3, Asie
(3) Gulu Gua sl2eidly siawn ol — orruasisl Ay sie
(A) 1,213 @223
(C) WA 1 34 2 (D) WA 1 241 3

AOW -A | 6 [ Contd.
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046.

047.

048.

049.

050.

051.

214l (E1-Nino) tutd A1 Ul 5y [Qanq / s Qi aen o9 ?
(1) d 831 [ayagrdla iy [Qdw 8.
(2) d-u sel [Qyagrla ardiaella uRanw [Agd w6,

(3) A~ 18 uygrnul sulleia-ul AlRufdd de iy 8.

(A) 1,243 @2 w73
(C) " 1 211 3 (D) H1A 1
AR GIUE UL .......... AL S0 Al 2¢ls a3l und 53 9.

.‘{l[@’{q (320t 0l (Terrestrial radiation)

(B) [euesa AR (A5l (Divisible solar radiation)

(©) A A (Latent heat)

(D) 21¢0131 A1UR (Albedo effect)

[Sriaadl udarmoumi eEaEll Gur drg- vigsHui A1 WS sul [Asen acu e ?

(A) SIASIRU - A3 - BIR$R - [UR uird (B) A31ML - H1$R - (U2 uiwd - s10514
(C) A5 - (U2 uird - S1AS1H - 431 @02 uiza - B2 - @t - sRSRY
A0 U 5y [Qann / s Q- aea €9 ?

(A) A5 AHIA S AAULE, ULV A 61RS L UZL N Ao AL 1 6 1R UldAsald (anti cyclones)
2 qratedl Y5 9.

@Gra sCoitla asaia-l @ansin 2 s A A visafla Y- g 8.
(C) (A) a2 (B) b

(D) (A) 1 (B) visudt )

w3 siell (ARl snoid Da-u W4 sy [Aanq / sun Q- e o ?

(1) Qg w35 [Ruiw 2xulag ol 214 gougin 51280 2 8.

(2) el wiu il 2ig -1 GuoLHi 5 %l vig sl [l e 3 ol v son glu 8 i [Agd vssig
(Al wa 6.

(3) siu-u wisl (sedimentary rocks) R Wl“llﬂb{l gL Rl wa 69,

(A) 1,291 3 @112

(C) A 1 241 3 (D) HA 2 241 3

JopRAedril HEIWUA 2020-21 cotdd A0 WS 53 (At / sa (Al ac 4L ?
(A) 4 2 2019-20 UL HEIAUA 5l 3. 12,472 53 AR .

@01 (5 viad A [Qsin Wl sl ay 8.

(C) (A) AL (B) b

(D) (A) ¥ (B) 2Asusl sl

AOW -A | 7 [ P.T.O.
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052.

053.

054.

055.

056.

057.

AL 2 dloge (A8L) oueid A WAL sy [Qan / sa Qs a6 ?

(1) 20 Al 2idald 2l d oo ad (Economically Weaker Section) (EWS) w2 fol"l'j, 58 A
30 AL -1 sl A (Hada aasn) Yl §is us.

(2) A¥ 694, AU / AUUSAL 2 HAAAQU A8 UAHAA 21 d-l HoEl 18 11l 58 atiRL 212 uRadq
BHAl YR1d 6.

(3) PMAY (280) dlo-it ol et w8l asid usinq- wilds siaan as-1las siuaadl wasiq
(A ) s2ULd 534 69,

@223 (B) HA 2 21 3
(C) " 1 211 3 (D) {1 1 241 2

ABAHL AU AR gL A3 5L 2udd) “Anna Brahma Scheme” eittid 121 U4l 53 [Qun /
suL[QaHl aea 69 ?

(A) 24 WL 3 AYAHL COVID-19 Ul ALS3IG E3UL A4 A% S AA AL Uil 2a0iddld
s we 9.

(B) 2AL Ao+l Adld U518 RS L Sl dll 20Adld SRS 24008 247 2470 vierflog Ayeld: [(R:ges
HNaal.

@) au (B) vin

(D) (A) ¥ (B) 2Asusl sl

2019-20 %3 AU AHDS s e snoid DA UE sy [Qann / san Qe w4 e ?
(1) @l Hat 4.99 lAd aellekl uRiag, Ao 31 ArglA GDP - 7.9 Uldd [8RA€1R €.
(2) MURAHE ALl ay g4 Bulet 57U ABUHE Ad olla 541 8.

(3) MRAHL 5& [Asanl 20 Uldaddd ay qulledl viad, Aornd 2 Rstaml A4 44 ©.
(A)1,2 %13 @123

(C) WA 1 34 2 (D) HAA 2 241 3

gl §MN HSlena sisH ouotd NaA-u WA sy (At / s Q- ac € ?

(A) $MN HSlcAa-l arl 2000 Hi W™ Al

(B) WA 48 sall-ll wigel o 2 5[0 Heleua Aol $501 M HOAAL HIZ QLS dARU €9,

(C) (A) AL (B) b

@ 1) »aa (B) Hsun 1l

Da-uniddl sy A 2 Al GAl 984 viadieirt 3Rl (Old Dependency Ratio) 421d € ?
@:: (B) Bz

(C) Bria uea (D) Gu-i U4l 2isumt 1l

AU 2aAs A ..., glRL A Rd 294 9.

.‘ﬂ&fx wa Y zfl“‘j Ql‘{lq Beuen (Net national product at factor cost)

(B) %R ML U Qﬁb‘i Ql‘é]%{ Bewgn (Net national product at market price)
©) &4 2[‘{{1& Bewent (Gross national product)

(D) Gu- U4 2isuw ]

AOW -A | 8 [ Contd.
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058. ol 25 gl soudl ollon eadl ay Sy, di [QARHU e A ......... Sl A5,

@ iun (B) Gedyeurt

(C) uadd W 89, (D) SoUAlrl £+ UL Byt 5 AayRU
059. s e a@ld A ......... 18 Aoila 69,

(A) 34 Aamdl (B) 28 [AclR1Hi vuer Yrau

.Q\ﬁ\d“ﬂ was oiuell sa (D) &8l wla (Defence Procurement)

060. > CURcAL Aot AR AL U4 59 we-i Al uan ol dl ?
(A) D sudlzilg, Asdlus
(B) 22 815 il S-flund Ardluswl
.@iﬁ% [Rauq 21f8[Run (Banking Regulation Act) Al SIUEL Y31l
(D) M Yauadla aiou-dl a3ud

061.  AAHEU-U 51281 ALY L 2ARS Muadi ......... 1Y 69,

(A) 8213l (B) QtuRi

@2uaq 8 9. (D) Gua-1 UA 25y ]
062.  “1000 Days Approach” A ~{l2+1L U4l su1 &iall e Aeon 69 ?

(A) ¥id w2l uziedlysd viicue-u B2 Wl sUsH.
(B) 2uoudlu [Qaani dpeuens yaieu.
@15 21 20w wina YRR s,
(D) s ua- aineuust-il AHdl sl sl diognl.
063.  dxud [Amrueu ouoid & WS sy [/ s fQa-d aea e ?
(1) Sreami 1440 321 [Quaeunl 13 HSan uerl .
(2) 4 13 A2l 2qARAd nld e 2ulda 6.
(3) 54 24 A2 AR ol 22 2uAdid 9.

(A)1,2 %43 (B) H1AA 2 24 3
@ 1212 (D) WA 1 24 3
064.  Command Area Development Programme i .......... Sqell a3 scH »ual.

(A) vigq (tilters) - ¥ 1Ol d YAlRA s
@ R2us anail ay i Guaio i d YRR sa
(C) Army -l A7t Sl ol [Asia
(D) uzigall s2c &stiui Aol Aueigl-l 21642
065.  drnA udia [l Na-u WA sy [ / s [Qael a6 ?
(1) %A 2ALENHL 24191 100 ARALAL 251 S1A dll % v[d2na-l £vud simd $30 AsAL
(2) 2UARA UL WA ALSAGUHL % E1HE AS A3,
(3) 2lasuu uciarll 6 guiel 422 AUNHE UL 89 HIR LD AHU2UGU Slell AS A,
@213 (B) WA 1 244 2

(C) A 1 241 3 (D) 1,2 ¢4 3

AOW -A | 9 [ P.T.O.
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066.

067.

068.

069.

070.

071.

2l WAL s qgiall v ¢iRd-u sl 7340 olaielly JaiRi-i qgel 6 ?
(1) daadiq vitnella g0

(2) [Raa idjd daa-l Geefl airdl

(3) Hauil w2 el »uam

(4) 2174 ULl QA A-UHA Y3 UIsg

(A)1,2,3 24 @ 1,223
(C) WA 2, 3 i 4 (D) WA 1, 2 ¥ 4
G2 AU { &SR (Original jurisdiction) Ml .......... Al AHIA A1 69,

(1) Aiugi-l 2f2ull Aoid) [Qael
(2) wRnueAl-) A2l 2ieid) [l

(3) virt oustan (B0l
(A)1,2 243 (B) 1A 2 24 3
(C) A1 %4 3 @121 2

RURArL o{aREML 1A WA su1 208idl Gedv Al ?

(1) clelH (2) Al (3) viga 4)

(A) WA 2 241 3 (B) H1AA 1 244 3

(O)1,2,3 %14 @cuz-u A 2sua dl
“ATUAR $A HI2 st gneigidluidl dlsasi-l alsasia ulda” 2ald ..........

(A) 24 A 3 dAlsAAS 3 28 Ul AriaR andiel 52 54l €1y, d 20 A/ AU A5ad1d dd
FAUAER L.

(B) A A1 5 ASIR A $2AR HIS FALEIR 69,

@) au (B) vin

(D) (A) ¥ (B) 2Asusl sl

OLEIRRLAL 4441 YUIRL AR, DA UL UL YNGR 8551 A 521581 B s 2uadl 8l ?
(1) @an A ulSddNd a4 8

(2) AlLssA [BRUHE HUSS 2 251U AH 8L

(3) it W2 Oyt ABrdl-u Ageiui 2810

(A) WA 1 @123

(C) WA 2 241 3 (D) 1,2 ¢4 3

AuucuHl [Alay ol 211 dangaii UaRBc suod DA A5 sa xng4269e1] anydl >uia ¢ ?
(A) tlloa (B) 951

@i (D) "laHl
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072.

073.

074.

075.

076.

077.

078.

079.

080.

2 WAL s ya1 9w sirRelly YRl e Aoidla © ?

@200 2 [QRaR wlzana Aual (B) A%, Yridlst

(C) -agll gL walRsc Hnag) (D) Gua- W4 visunt 1l
A1 WA 56 ouotd 2 cudld 6IIRRIAL YNELA HNIAL 245 0L o1d €9 ?
(A) AtAs siautaldil (Legislative Procedure)

.Q{Q{élll aisdl (Parlilamentary Democracy)

(C) (A) a2 (B) b

(D) (A) ¥ (B) 2Asusl sl

A6 vReflandl 200l st 2svit- gt A1 WSl su eani Yealdam e sul © ?
(A) 512 (B) H15

.alfl"l (Yemen) D) Ao (Senegal)

Y5 A%2-UL Economic and Social Survey of Asia and Pacific (ESCAP) A8 UA 2020 AAIR HIRd Al
GDP.......... sldad-dl 2ueudl 3 9.

@:3% (B) 4%

(C)3.5% (D) 3%

ILO I COVID-19 i 51:{[d% (World of Work) ASUA HJAIR ........ Heflun curdly disi alofllui
aseus ol

(A) 300 @00

(©) 150 (D) 250

NASA -l Artemis W% 521l Q8IS .......... 6.

@-is-u B yu v nam wna Yoo iasl (base camp)
(B) HOWL YR UAH WA Yo 9198l (base camp)
(C) SUN -l 5121 dal Hi-ll uaH G2 3842 SHRL

(D) Gu- U4 2isuw Al

.......... UL A6 2 COVID-19 A4 UlAs1R HIE CARUNA -UH-Al usa a3 53

(A) 3@ sl @isias

(C) IITS (D) [ [Genaal

U Aal vddld MRd .......... gaA 6.2 Hldlur 2 il Hisdl.

A) cul>a (B) st

(C) wn [ EICHE]

(A2 2uR10u [2a 2020 31 7 L ABArU o GorausS dAl. 21 Q- You [4A1R (Theme) .......... Sl

@) RuRs12 (Nurse) 21 szl (Midwives) A HeE s2d).
(B) Hilsd 22151 COVID M A3l Hee $dl.

(C) d*u - COVID-19 A1H 3al.

(D) a4 AL AN - AAIHA dldlaRRl
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081.

082.

083.

084.

08s.

086.

087.

088.

089.

090.

Al dRHL USA 42512 ¢ Harpoon Block-1T {2 @l A1 w2« vdul g2 sul, 21 Hluda

.......... 8.

(A) Air launched anti-aircraft missiles (B) Land launched anti-tank missiles

.Air launched anti-ship missiles D) BuR-L U4 AU Al

2241511 AR 318 (Anglophone intelligence alliance)l Ui 24wl 2 .......... gali-l AHAL 53
8.

(A) USA, UK ¥+, 5431 24 ¢uRd (B) 3131, oHHl, 3i, USA da UK

(C) USA, UK, 3131, »U2dlul 4 v @022 A, YANA-3, 3131, USA dal UK
Association of South East Asian Nations (ASEAN) -l AdHLA AU A ..., 2oL 89,

(A) 9As [ |CRERTE

(C) S=3ialla (D) QA

WWF Ul G1Rd- yaiaella R siisu-l A% 5d (Ambassador) a3 Al W4 su1 cudla vicudl-l
[FugLs sami 2udl 8 ?

(A) [Blau D123 (Dilip Tirkey) @ a-a-ua 2u-e

(C) A dgas (D) *uY2A Ml (Bhaichung Bhutia)
125 ay o+l UK [Rad ui22 $u-ll Norton A digdui 56 udly Hiz: Sudla g2dold 531 €9 ?
(A) B1N% HI2RAASE (B) €I\ Hied

(C) 2121 Wiz @ rvs A

25 Ui el ALY ue 53 Slu dal 2usH ue 113 Sid dl d sl uan ue sy 8o ?
@:s (B)7

(©)9 (D) Gua- W4 visuw 1l

M2 87 4l 89) 1A 2uua el 21601 53 2UUAL UBLLAL UG S,
C#bAPS6E% my4J1USv207Ti69@W3IL#KT*Z

A vude Aglluiell amn 2isl g saunl 2ud dl gHell suyll >usy ue s34 8ol ?

AT (B) ©

@ (D) Gu-it U4 2isumt 1l

ST KTRMTESET (Special Characters)-l 2{val ﬂf’ll&ﬁ\l (Alphabets)'ﬂ vl sl s2dl wiigdl 972
(A)7 (B) 8

@ (D) Gur+L WA A sy 1l

e gellul sian vua aeld (Special Characters) s24L 8 g+l drd udal HUUAR (Alphabet) wlddl
Sl 21 dRd ugl »is (Number) 2uadl iy ?

(A)3 (B) 2

©)1 @

25 AlRAA 2iER 25 iddld adn 2ndg 6. A AU WRY bUGHH adi-i u2s Sl daL agng axasn
38.5 L. Al Slu dl AlRAT QA5 s2¢ ual ?

(A) 42 L. Al @10 2. 3

(C) 56 L. A (D) Gua- W4 visun 1l
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091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

25 (332 Au- 11 viewdlziat 2is SlRoamE s g -l A2 32 8. oA dud d ugl-l SHRami w1
3 gedl aurdl gia dl 2uouHl S[RoMl ARl g 5241 A s U3 ?

(A) 285 (B) 325
(C) 375 @cuz-u A sua dl

w5 21 36 AsHi Al 2uadl olle 2 uaR 52 €9, au 2+l dond 450 W2 w1 d-ll w3y 54 (5
sas 69, o oflle 2+ 540 W12 aioll i di d-l »3u s2dl wal ?

(A) 99 [33{l/s5cus (B) 54 (33518

@45 Bysans (D) Gua-u UA sy ]

15 WAL 6L AUR F 5L 20 8, i iR d-fl uR 6l Avul 21d d-l Acuani sedl ?
(A) 1712 (B) 1/36

@4 (D) Guz-it U4l Aisunt 1)

-\

s SUUAL (A5l WA & A5 30% U5 AL BUE 273 U Al O, dl dll WA g4 seal
gAY A ?

(A) 383 @:90

(C) 393 (D) Gua-l W4 visuwt 1l

) Alell WAl Ava 5 € B A 34, 90 2 104 A Ll €35 Qrid A AN Al ?
@4 (B) 15

(C) 16 (D) 17

-

A2 20l e Al neue seal a9 ?
03, 24, 01, 54, 89, 21, 08

(A) 24 (B) 22.5
@:: (D) Gu-it U4 isumt 1l
2.5% of 4400 + 0.125% of 48800 o Heu 52¢ 2 ?

(A) 161 @&

(C) 235 (D) Gua- W4 visunt 1l
21, 36 A1 66 il QUL 524l 231 ?

@):772 (B) 5544

(C) 1386 (D) Gua- W4 visuw 1l

~

25 doriuql [@sal-l aanl 20 A4 6. A d-l 215 euy 8 AL Slu dl dd, Aasn Se¢ a9l ?

(A) 56 Al Al (B) 72 aL. Al

@45 2. A (D) 64 Al AL

3L 25,000 12% Avl 3 Al A52(B @uor 249 AEL Q0% dslad S2dl 49l ?
(A) 3L 1,130 (B) 31. 1,180.20

@:. 1,123.20 (D) Gu-it U4 2isumt 1l
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101. Which of the following statement(s) is/are FALSE about primary key?
(A) Primary key uniquely identifies a row.
(B) There can not be more than one primary key for a table.

(C) Primary key column(s) in one table can be referenced by foreign key column(s) in another
table.

.Columns with string data types cannot be made Primary Key because they are large

102. The set of permitted values of an attribute is called
(A) Tuple (B) Column
@ pomain (D) Table

103. Which of the following conditions are equivalent in RDBMS?
(A)"C1>=10" and "NOT C1 <=10"
(B) "C1LIKE E%" and "C1 LIKEE "
."Cl IN (1,2)" and "C1=10OR C1=2"
(D) "C11IN (10,20)" and "C1 BETWEEN 10 AND 20"
104. Which of the following statements are TRUE about DISTINCT keyword?
(A) DISTINCT keyword can be used in SELECT and WHERE clauses
(B) DISTINCT removes duplicates based on column immediately following DISTINCT
(C) DISTINCT retains duplicates based on all the columns in the SELECT clause
.Usage of DISTINCT should be avoided as far as possible due to performance issues

105. Consider an empty Student table provided below:

Attribute Data Type

Id INTEGER
Name VARCHAR2 (10)
Age INTEGER

DOB DATE

Following ALTER statements are successfully executed on this table sequentially to obtain
modified STUDENT table.

ALTER TABLE Student DROP (DOB, Age);

ALTER TABLE Student ADD Gender CHAR(I);

ALTER TABLE Student MODIFY NAME NUMBER;

ALTER TABLE Student RENAME COLUMN 1d TO Studentld;

Which INSERT statement will execute successfully on the modified STUDENT table?
(A) INSERT INTO Student VALUES(1, 'Jack', M)

(B) INSERT INTO Student VALUES(1, 3, 30)

.INSERT INTO Student VALUES(1, 3, 'M")

(D) INSERT INTO Student(Id, Name, Age, DOB) VALUES(1, 'Jack’, 30, '09-30-1985")

AOU-A | 14 [ Contd.
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106.

107.

108.

109.

110.

Consider the following record of customer table where NAME is of type VARCHAR?2 and
BALANCE is of type NUMBER. Which of the following query will give you the desired output?

Current Data Desired Output
NAME BALANCE NAME BALANCE
NULL NULL EMPTY NA

(A) SELECT NVL(Name, 'EMPTY"') "NAME", NVL(Balance, 'NA'") "BALANCE"
FROM Customer;

(B) SELECT NVL(TO _NUMBER(Name),'EMPTY"') "NAME", NVL(Balance,NA)
BALANCE" FROM Customer;

(C) SELECT NVL(TO_NUMBER(Name),'EMPTY"') "NAME",
NVL(TO _NUMBER(Balance),'NA') "BALANCE" FROM Customer;

.SELECT NVL(Name,'EMPTY') "NAME", NVL(TO_CHAR(Balance),'NA")
"BALANCE" FROM Customer;

What will be the output of the following query?

SELECT ABS(MONTHS BETWEEN(ADD MONTHS('09-FEB-2014',3),'09-Mar-
2015'))"MONTHS"

FROM DUAL
(A) -10 (B) 13

@0 (D) -13

Which of the following date function can be used to get the timestamp from database ?
(A) SYSDATE (B) SYSTEMDATE
.SYSTIMESTAMP (D) SYSTEMTIMESTAMP

Which of the following statement(s) is/are FALSE about ORDER BY clause ?

(A) Order by can be used with DATE attributes

(B) Order by default sort is ascending order

(C) Where clause can not be used after order by clause

.Order by only works on number column

Which statement shows the department ID, minimum salary, and maximum salary paid in that
department, only if the minimum salary is less than 5000 and maximum salary is more than
15000?

(A) SELECT Deptld, MIN (Salary), MAX (Salary)
FROM Employee
WHERE MIN(salary) < 5000
AND MAX (Salary) > 15000;

(B) SELECT Deptld, MIN(Salary), MAX(Salary)
FROM Employee
HAVING MIN (Salary) < 5000
AMD MAX (Salary) > 15000;

(C) SELECT Deptld, MIN (Salary), MAX (Salary)
FROM Employee
WHERE MIN (salary) < 5000
AND MAX (SalLary)> 15000
GROUP BY Deptld;

@)scLECT Deptid, MIN (Salary), MAX (Salary)
FROM Employee
GROUP BY Deptld
HAVING MIN(Salary) < 5000
AND MAX (Salary) > 15000;
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111. Which of the following columns in a table cannot be updated ?
(A) Columns which allows NULL values in the table
.A Primary key column which also serves as foreign key reference in another table
(C) DATE type columns in the table
(D) All of the above
112. What is true about the INSERT statement in Oracle SQL?
(A) An INSERT statement can be used only if a constraint is placed on the table
.An INSERT statement can never insert a row that violates a constraint
(C) An INSERT statement can override any constraint put on the table
(D) An INSERT statement cannot be used if a constraint is placed on the table
113. Consider the following Student table below:

Student Table
Attribute Data Type

Id INTEGER
Name VARCHAR2 (10)
Gender CHAR (1)

DOJ DATE

Which of the following statements will execute successfully?

(A) INSERT INTO Student VALUES(1, 'Amir', 'M");

(B) INSERT INTO Student VALUES(1, 'M', 'Anand', SYSDATE);

.INSERT INTO Student VALUES(1, 'Ajay', 'M', '20-JAN-2020");

(D) INSERT INTO Student VALUES(1, SYSDATE , 'Aryan', 'M');
114. Consider the following Student table below:

Student Table
Attribute Data Type

Id INTEGER
Name VARCHAR2 (10)
Gender CHAR (1)

DOJ DATE

Which of the following statements will execute successfully?

.INSERT INTO Student(ld, Name, Gender, DOJ) VALUES(1, 'Ajay’, 'F', '20-JAN-2015");

(B) INSERT INTO Student(ld, DOJ, Name, Gender) VALUES(1, SYSDATE, 'Amit', F);

(C) INSERT INTO Student(ld, Name, Gender, DOJ) VALUES(1, 'Ankit', 'M");

(D) INSERT INTO Student(ld, Name, Gender, DOJ) VALUES(1, 'Arjun’', '20-JAN-15', 'F');
115. Consider the following "Quotation" table.

Quotationld Supplierld ItemCode QuotedPrice

Q1001 S1001 I1012 1500
Q1002 S1002 I1012 1400
Q1003 S1003 I1013 1450
Q1004 S1001 I1012 600
Q1005 S1004 I1013 625

How many rows would be displayed when the following query is executed?
SELECT ItemCode, COUNT(*) FROM Quotation GROUP BY Supplierld, ItemCode;

(A) 2 @-

(C) Error is thrown D)5
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116.

117.

118.

119.

120.

121.

122.

123.

Table T exists with single column A having 6 rows with values - 100, 200, NULL, 300, 400,
NULL. What is the output of the following query?

(A) NULL (B) 250
(C) 166.67 @:00

Computer table has Compld, Make, Model and MYear attributes. Which of the following
statement will not execute successfully?

(A) SELECT * FROM Computer ORDER BY Make

(B) SELECT Compld FROM Computer ORDER BY Make

@)sELECT Compld FROM Computer ORDER BY 2

(D) SELECT * FROM Computer ORDER BY 1

Which of the following statement is TRUE about Group By clause?

(A) Columns specified in GROUP BY clause must be part of the SELECT clause
.Columns specified in SELECT clause must be part of the GROUP BY clause
(C) GROUP BY removes NULL values from result

(D) Aggregate function cannot be used in query containing GROUP BY

In which of the following circumstances a GROUP BY clause is mandatory?

(A) SELECT query having only one aggregate function

(B) SELECT query having two aggregate functions

.SELECT query having one aggregate function along with other columns

(D) SELECT query having only two columns

Consider a relation scheme R(A,B,C,D,E) with functional dependencies
AB—->C,CD—>E,DE —>B

Which of the following is a candidate key for R?

(A) BA @&sp

(C) AD (D) CD

Consider the relation scheme R(A,B,C,D) where A is candidate key. With no information about
Functional Dependencies involved, then R is in which normal form ?

(A) First Normal form (B) Second normal form

.Boyce Codd Normal Form (D) Third Normal form

Which of the following is true?

.Selection, projection, union, difference, and Cartesian product are independent.

(B) Selection, projection, intersection, difference, and Cartesian product are independent.
(C) Selection, projection, union, division, and Cartesian product are independent.

(D) Natural Join, selection, projection, Division are independent.

Read the Query below and choose the right order of Query Execution taken by Oracle to process
the query.

SELECT Dept, SUM(Salary) FROM Employee
WHERE Salary > 30000 GROUP BY Dept HAVING Count(id) > 1

(A) Where, From, Group By, Having, Select
.From, Where, Group By, Having, Select
(C) Group By, Select, Having, From, Where
(D) Select, Group By, From, Having Where
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124.

125.

126.

127.

128.

129.

130.

131.

Read the Query below and choose the right order of Query Execution taken by Oracle to process
the query.

SELECT DISTINCT Dept FROM Employee WHERE Salary > 30000 ORDER BY Dept
(A) Select, Where, Distinct, From, Order By

(B) Order By, Select, From, Where, Distinct

.From, Where, Select, Distinct, Order By

(D) Select, Distinct, Order By, From Where

Choose the right option for the Query below:

SELECT MAX(AVG(Salary)) FROM Employee

(A) Displays Maximum Average Salary of Employees

.Error

(C) Displays Average Salary of Employees

(D) Displays Average and Maximum Salary of Employees

Which Join is equivalent to Cartesian Join?

(A) INNER JOIN (B) OUTER JOIN
@ cross joN (D) NATURAL JOIN
Identify the type of JOIN query used in the below query?

SELECT E.Id, E_.EName, C.Compld, C.Model
FROM Employee E, Computer C WHERE E.Compld = C.Compld

@) \NER JOIN (B) SELF JOIN

(C) CROSS JOIN (D) OUTER JOIN

Which of the following conditions has to be satisfied for INNER JOIN to work?
(A) Columns used for joining must have same name

.Columns used for joining can have same or different name

(C) Columns used for joining must have different names

(D) A column is not required for joining

Which of the following statements are true?

(A) FULL OUTER JOIN is same as CROSS JOIN

(B) SELF JOIN is a special type of OUTER JOIN

.RIGHT OUTER JOIN is equivalent to LEFT OUTER JOIN if order of tables are reversed
(D) INNER JOIN retrieves all rows from Cartesian Product.

Which of the following statement is TRUE about FULL OUTER JOIN created on two tables
Tablel and Table2?

(A) Retrieves all the unmatched rows of Tablel

(B) Retrieves all the unmatched rows of Table2

.Retrieves both matched and unmatched rows of Tablel and Table2
(D) Retrieves only matched rows of Tablel and Table2

Which join is to be used between two tables A and B when the resultant table needs rows from A
and B that matches the condition and rows from A that does not match the condition.

@ouUTER JOIN (B) CROSS JOIN
(C) INNER JOIN (D) SELF JOIN
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132.

133.

134.

135.

136.

137.

138.

Which of the following statements are TRUE regarding Independent Subquery?
I.  Equality operator can only be used if subquery returns only one row.

II. IN operator can be used if subquery returns multiple rows.

III. Equality operator can be used if subquery returns multiple rows.

(A) Both II and 111 (B) Both I and 111

(C) I, IT and 111 @ only 1 and 1

Independent sub query is the one where

(A) the inner and the outer query are from two different tables

.the inner query has no reference to the outer query

(C) the inner and outer queries are for the same table but with different condition
(D) the inner query has reference to the outer query

Consider the below EMP table with the data and query.

EmpNo Ename DeptNo
1111 Ajay 20
2222 Vijay 30
3333 Sourabh 30
4444 Surya 10
5555 Abhishek 30

Select Ename FROM EMP Where DeptNo = MAX(DeptNo);
What will be the output of the above query?

(A) 3 rows .Error

(O) 1 row (D) 2 rows

The Entity Customer has three candidate keys: a) Custld b) Email and c¢) ContactNo. Suggest
the best primary key for this entity

@ custa (B) Email

(C) ContactNo (D) Custld and ContactNo

Which of the two statements are correct with reference index concept?

(A) Index increases performance of Insert, Update and Delete statements

.Index decreases performance of Insert, Update and Delete statements

(C) Index neither increases nor decreases the performance of Select statements

(D) Index decreases performance of Select statements

Which of the following statements are correct with reference to index concept in databases?

(A) Indexes need to be refreshed every night to reflect changes due to addition, updation or
deletion of new rows in the Primary table

.Too many indexes slow down the database backup and recovery processes
(C) The size of index is inversely proportional to the size of the primary table
(D) Index for Primary Keys are not automatically created

Which of the following statements are correct?

(A) Indexes should be created on attributes used in the Select clause

(B) Indexes should not be created on attributes used in the Where clause

(C) Indexes should be created on attributes used in the Order By clause

.A table can have only one clustered index and any number of non clustered indexes
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139.

140.

141.

142.

143.

144.

LightWorks is a consumer appliance company. They have their products stored in the table
named ConsumerProducts that has the following attributes. Productld, ProductName,
ProductCategory, ProductPrice, ProductAvailability. Productld is the primary key. Also for faster
search and retrieval of data there are indexes IXPN on ProductName and IXPC on
ProductCategory.

Which of the following operations will result in the usage of index IXPC?
.A search for products belonging to a particular ProductCategory

(B) A retrieval of ProductCategory of all the rows in the table

(C) A search for products whose category contains a particular letter

(D) A search for products whose category ends with a particular letter

LightWorks is a consumer appliance company. They have their products stored in the table
named ConsumerProducts that has the following attributes. Productld, ProductName,
ProductCategory, ProductPrice, ProductAvailability. Productld is the primary key. Also for
faster search and retrieval of data there are indexes IXPN on ProductName and IXPC on
ProductCategory.

Which of the following query will not use an index? Select more than one
(A) SELECT ProductName from ConsumerProducts WHERE ProductName = 'Ariel'

(B) SELECT ProductPrice from ConsumerProducts WHERE ProductName = 'Ariel' AND
ProductCategory = 'Detergent’

.SELECT ProductPrice from ConsumerProducts WHERE UPPER(ProductName) ='ARIEL'
(D) SELECT ProductPrice from ConsumerProducts WHERE Productld = 53422

Which of the following are mandatory section in an anonymous PLSQL block?

.Execution Section

(B) Declaration Section

(C) Exception Section

(D) All of the above

Choose the correct option/s about an anonymous PLSQL block.

(A) Anonymous PLSQL program can be Saved as database Object and executed multiple times

(B) Anonymous PLSQL program can be saved as a .sql file on local file system and can not be
executed multiple times

.Anonymous PLSQL program can be directly typed at sql command prompt and executed.
(D) There is no such rule in PL/SQL

What will be the output of the below PLSQL code.
declare
area number(5,2):=22.355;
begin
dbms_output.put _line(" Area : "|]area);
end;

(A) Area : 22.35 (B) Area : 22.355
.Area :22.36 (D) Oracle Error

What will be the output of the below PLSQL code.
declare
area number(5,2):=222.354;
begin
dbms_output.put_line(" Area : "| |Jarea);
end;

(A) Area : 222.36 @Area: 22235
(C) Area : 222.354 (D) Error
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145.

146.

147.

148.

What will be output of the below PLSQL code.

declare
area number(5,2):=2222_.354;
begin
dbms_output.put _line(" Area : "|]area);
end;
(A) Area : 2222.35 (B) Area : 222.354
.Error (D) Area : 222.35

What is the output of the PLSQL code.

create or replace procedure dispBoolean as
begin

declare

v_test BOOLEAN;

begin

v_test:=TRUE;
dbms_output.put_line(v_test);

end;

end;

(A) TRUE @cxrror
(C) v_test (D) FALSE

What is the output of the PLSQL code?

<<supplier>>

DECLARE

v_price Number := 10;

BEGIN

<<retailoutlet>>

DECLARE

v_price Number := 20;

BEGIN

DBMS_OUTPUT .PUT_LINE("Supplier Price: "]|supplier.v_price);
DBMS_OUTPUT.PUT_LINE("Supplier Price: "|]retailoutlet.v price);
END;

DBMS_OUTPUT .PUT_LINE("Supplier Price: "]|supplier.v_price);
DBMS_OUTPUT.PUT_LINE("Supplier Price: "|]retailoutlet.v price);
END;

(A) 10,20,10,20 (B) 10,20,10,10

@xrror (D) 10,20,10

Which of the following is not true about the declaration section of a PL/SQL block?
(A) This section starts with the DECLARE keyword.

.It is a mandatory section.

(C) It defines all variables, cursors, subprograms, and other elements to be used in the program.

(D) It is not a mandtaory section.
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150.

151.

152.

153.

154.

155.

What is wrong in the following code?
create or replace procedure gpsc_g9 as
BEGIN
DECLARE
c id : = 101;
C_name customers.custname%type;
c_type customers.custtype¥%type;
BEGIN
select custname,custtype into c_name,c_type
from customers
where custid = c_id;
dbms_output.put_line(®" c_name = "]]c_name|]",c_type = "]|c_type);
END;
END;
(A) You cannot use the SELECT INTO statement of SQL to assign values to PL/SQL variables.
(B) The SELECT INTO statement here is wrong. It should be: SELECT ¢ _name, ¢_address
INTO name, addr
(C) The WHERE statement is wrong. It should be: WHERE id := ¢ _id;
.The variable c¢_id should be declared as a type-compatible variable as -
¢_idcustomers.id%type :=1;
Which of the following is the correct syntax for creating a VARRAY named DESIGNATIONS,
which can hold 100 strings of varchar2, in a PL/SQL block?
(A) TYPE DESIGNATIONS IS VARRAY(100) of varchar2(20);
(B) VARRAY DESIGNATIONS IS VARRAY(100) of varchar2(20);
(C) TYPE DESIGNATIONS VARRAY(100) of varchar2(20);
.Type DESIGNATIONS is VARRAY(100) of varchar2(20);

Payables and Receivables are part of which component in Oracle E-Business Suite

(A) CRM (B) SCM

.Financials (D) Order Management

For most benefits and some types of compensation, the hierarchy of compensation objects is
(A) Plan, Plan Type, Program, Option .Program, Plan Type, Plan, Option

(C) Plan Type, Program, Plan, Option (D) Option, Plan Type, Plan, Program

Which component of Oracle EBS facilitates business Process based integration ?

(A) Oracle Applications Utilities (B) Oracle Web Applications Desktop Integrator
.Oracle Workflow (D) Oracle Alert

In a Procure to Pay Cycle (Oracle EBS Purchasing) business process, identify the right sequence
of departments involving in fulfilling the 'Procure to Pay' life cycle.

.Procurement/Purchasing Department, Supplier, Stores/Inventory, Finance & accounting
(B) Finance & Account, Procurement/Purchasing, Supplier, Stores/Inventory

(C) Stores/Inventory, Procurement/Purchasing, Supplier, Finance & Accouting

(D) Supplier, Stores/Inventory, Procurement/Purchasing, Finance & Accouting.

Which department in an organization is responsible for doing Payment Reconciliation?

(A) Finance & Accounting department (B) Purchasing department

(C) Inventory department .Treasury department
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157.

158.

159.

160.

161.

162.

163.

164.

165.

Which module in Financials is used for uploading the bank statements having the details of
Payments made to different stakeholders and Payments Received?

(A) General Ledger (B) Accounts Payables

.Cash Management (D) Accounts Receivables

When items to be procured are of high volume, which type of RFQ is most appropriate ?
(A) Standard RFQ .Catalog RFQ

(C) BID RFQ (D) Book RFQ

When the procurement of items will also include other costs like transportation cost etc.. in
addition to items cost, then which RFQ is most appropriate?

(A) Standard RFQ (B) Catalog RFQ
@5 rRFQ (D) Non-Standard RFQ

Which component in Oracle change management functionality automates deployment of Oracle-
delivered patches and customizations using Patch Manager

(A) Customization management (B) Approval management
.Patch management (D) Cloning

Which component in Oracle change management functionality manages and control changes
done to Oracle E-Business Suite through patches or customizations ?

(A) Customization management .Approval management
(C) Patch management (D) Cloning

Identify the correct sequence of Multilevel Hierarchical approval process for Change management
in Oracle EBS.

(A) Following the Approval Hierarchy when a request is submitted, Defining an Approval
Hierarchy, Using the functions View/Approve/Reject '"Change Requests''.

(B) Using the functions View/Approve/Reject "Change Requests', Following the Approval
Hierarchy when a request is submitted, Defining an Approval Hierarchy

.Defining an Approval Hierarchy, Following the Approval Hierarchy when a request is
submitted, Using the functions View/Approve/Reject '""Change Requests"

(D) No specific sequence exists

In Oracle Enterprise Manager, choose the appropriate Internal Name for Resource Type 'Backup
Configurations' meant for Backup creation

(A) FULL_BACKUP_CONFIG @) CREATE_BACKUP_CONFIG
(C) FULL_BACKUP_REPORT (D) VIEW_BACKUP_REPORT

In an Enterprise Structures Business Process Model, defining organizations to represent each
area of business within the enterprise falls under which BPM activity?

(A) Define Enterprise .Deﬁne Enterprise Structures
(C) Define business units (D) Define Facilities

In Enterprise Structures Business Process Model, defining Currencies and Rates, Ledgers which
are used in organizing the financial data of a company falls under which BPM activity?

(A) Define Business Units (B) Define Chart of Accounts
.Deﬁne Financial Reporting Structures (D) Define Ledgers

In an enterprise structure, a Legal Entity is

(A) Same as Enterprise .Part of an Enterprise
(C) Refers to Legal Department (D) None of the above
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167.

168.

169.

170.

171.

172.

173.

174.

175.

Assume that you revalued your inventory in a warehouse to account for raw material price
increases. The revaluation and revaluation reserves must be reflected in

(A) Enterprise accounts

.Concerned Legal entity's account

(C) Both Enterprise and Legal entity's account
(D) None of the above

In an enterprise setup, business functions such as Finance & Accounts, HR, Facilities etc that
are not directly responsible for revenue generation for the enterprise are generally referred as

(A) Legal Entities .Business enabling functions
(C) Business Unit (D) None of the above

In an enterprise financial reporting structure, which of the following are not the characteristics
of Thin General Ledger?

(A) Minimal chart of accounts (B) Infrequent posting schedule
.Frequent posting schedule (D) All of the above

In Financial enterprise structure components, which accounting configuration component deals
with tracking of natural expenses to identify functional costs?

.Cost Centers (B) Balancing Segments
(C) Ledgers (D) Accounts

In Oracle Enterprise Asset Management, which of the following is optional product to implement
Enterprise Asset Management ?

(A) Oracle Bills of Material (B) Oracle Inventory
(C) Oracle Manufacturing Scheduling .Oracle Order Management

In Oracle Enterprise Asset Management, while setting up Electronic Records and Signatures, e-
Records are stored in which format?

(A) Flat file format (B) MS-Excel format

.XML format (D) PDF format

In Oracle Enterprise Asset Management, existing lookup codes cannot be modified in which
category of code?

(A) User defined lookup code .Extensible lookup code

(C) System defined lookup code (D) All of the above

In Oracle Enterprise Asset Management, in which category of lookup code the existing codes
cannot be modified and new code cannot be added to the table?

(A) User defined lookup code .Extensible lookup code
(C) Code Migration Table (D) All of the above

In Oracle Enterprise Asset Management, while setting up Asset management process work flow,
Enterprise Asset Management administrators use Activity Type to describe the type of
maintenance work that is performed on an Asset. Activity Type is classified under which type of
lookup code ?

(A) User defined lookup code .Extensible lookup code
(C) System defined lookup code (D) None of the above

In Oracle Enterprise Asset Management, while setting up Asset management process work flow,
Enterprise Asset Management administrators use Activity Cause to describe reasons (for e.g.
‘Preventive’, ‘Normal’, ‘Wear’, ‘Rework’ and ‘Breakdown’) for an asset failure. Activity Cause
code is classified under which type of lookup code ?

(A) User defined lookup code .Extensible lookup code
(C) System defined lookup code (D) None of the above
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177.

178.

179.

180.

181.

182.

183.

In Oracle Payables, payment term "1/10 Net 30" means

(A) Get 10% discount if payment is made within 10 days and the invoice is due in 30 days
.Get 1% discount if payment is made within 10 days and the invoice is due in 30 days
(C) Get 30% discount if payment is made within 10 days from the date of Invoice receipt

(D) Get 10% discount if payment is made within 10 days and the invoice is due in 30 working
days

Oracle Receivables provides how many predefined payment terms?
é: (B) 3

©)4 D)5

In Oracle Receivables, the term 30 NET means

(A) The balance of the transaction is due within 30 working hours
(B) The balance of the transaction is due within 30 working days.
.The balance of the transaction is due within 30 days.

(D) The balance of the transaction is due within 30 hours.

In an Order Management process of an enterprise, creation of Purchase Order is applicable for
which type of requisitions?

(A) Internal requisitions

.Approved Purchase requisitions

(C) Applicable for Internal and Purchase requisitions

(D) Inventory Module

Which type of Purchase Order is known as '"Standing Orders"?

(A) Standard Purchase Order (B) Planned Purchase Order
.Blanket Purchase Order (D) Contract Purchase Order

In Oracle Applications, when Purchase order is raised for procurement of an item for required
quantity, details regarding quantity break up to be distributed to different locations on what
dates will be specified in

(A) Catalog tab (B) Terms tab
(C) Currency tab .Shipments tab

In a Purchase order creation consisting of details related to items to be procured for specified
quantity which of the following is true?

.Instruct supplier to distribute the said quantity for an item to multiple locations and shipment
be made on different or same dates

(B) Instruct supplier to distribute the said quantity for an item to same location and shipment be
made on same date only

(C) Instruct supplier to distribute the said quantity for an item to different locations but on
same date only

(D) Instruct supplier to distribute the said quantity for an item to same locations but on different
dates

In Oracle's Employee Self Service Module, which function facilitates recording of an employees
Work permits, Visa Information and Medical certificates in one place?

(A) Personal Information function .Documents of Record function

(C) Employment Verification function (D) Manage Employee Events function
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185.

186.

187.

188.

189.

190.

191.

192.

193.

In Oracles Employee Self Service Module, Medical Fringe Benefit Element holds information
of an employee related to

(A) Exempted value of the total medical bill amount

.Medical benefit amount and maximum annual limit of medical reimbursement
(C) Medical expense details

(D) All of the above

Oracle HRMS enables us to setup and process Leave Travel Concession under the classification
of

(A) Standard deductions .Regular earnings
(C) Overtime earnings (D) Fringe benefits

In employee payroll processing, which of the following should not be processed as Fringe benefit
element?

(A) Entertainment expenditure (B) Club facilities expenditure
.Leave travel concession (D) Telephone expenditure

The India GST is a country-level destination based indirect tax Applied on

(A) Manufacture of goods (B) Sale of goods

(C) Provision of services .Supply of goods or services
Identify the tax collection that does not fall under Transaction tax

(A) GST .TCS (Tax collected at Source)
(C) Customer duty (D) Excise

Identify the tax collection that does not fall under Withholding tax

(A) TDS (B) TCS

.Excise duty (D) All of the above

In Oracle financials for India Basic Setups tax product that supports India tax requirements,
under which window can you define CGST, SGST and IGST tax categories?

(A) Define Tax Configuration .Defining Tax Types
(C) Defining Tax Rates (D) Defining Tax Categories

In Oracle financials for India Basic setups tax product that supports India tax requirements,
which of the following are valid Tax Rate type which is one of the attribute in Tax Rate Window

(A) Percentage (B) Ad-hoc Amount
(C) Unit of Measure .All of the above

Defining customers as party is necessary for tax defaulting when transacting in Order to Cash
cycle. Important attributes such as GST Registration number, PAN# etc.. are to be defined for
the party. Under what category will customers be classified when registered in '"Oracle Financials
for India"

(A) First party (B) Second party
.Third party (D) None of the above

What is the most appropriate tax category when goods or services are supplied in cross-state or
cross-country?

(A) SGST (B) CGST
@:Gst (D) UTGST
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195.

196.

197.

198.

199.

200.

201.

202.

203.

Assume that an electronics dealer in Delhi has sold a laptop worth 1,00,000 to a customer residing
in Delhi. Assume that the GST rate is 13%. Choose the right option

(A) Customer to pay IGST of Rs 13,000
(B) Customer to pay SGST of Rs 13,000
(C) Customer to pay CGST of Rs 13,000
.Customer to pay Rs 6,500 each for SGST and CGST

In Oracle Financials for India Basic Setups, in Tax configuration, Defining Common
Configuration setup can be done

(A) At Inventory Organization level .At Operating Unit level
(C) At Export Oriented Unit (D) Manufacturing Unit

In Procure to Pay cycle, Goods Receipts are created in which of the following Purchase Order
(PO)?

.Standard PO (B) Blanket Purchase agreement
(C) Planned PO (D) Contract Purchase Agreement
Which of the following statement is FALSE?

(A) Blanket releases are created against a Blanket Purchase Agreement

(B) Standard Purchase order is created against a Contract Purchase Agreement
.Standard release is created against a Standard Purchase Order

(D) For creation of Blanket Purchase Agreement, user does not need Shipment and distribution

Information.
When does the Purchase Order(PO) line get the Status 'Closed for Receiving'?
.At the time of receive full quantity (B) At the time of PO approve
(C) At the time of Receipt entry (D) At the time of PO auto create

Ajay, the new ""Remote Administrator" is working on a system which has some issue. She has to
get some data from her desktop. Which remoting option will best suit her?

.Remote Desktop Connection (B) Remote Assistance
(C) Remote Desktop App (D) Remote Laptop App

Which view of reports editor depicts the structural representation of the data used in report
definition?

(A) Web source view (B) Paper design view

.Data Model view (D) Paper parameter view

Which of the following view in Reports Editor helps you to view the report's data?
(A) Data model view (B) Web source view

(C) Paper layout view .Paper design view

Which of the following acts as a data source for the reports definition?

(A) Database columns (B) Parameters

.Query (D) Group

Which setting change would you make in Paper Layout to move the child object out of a parent
object?

(A) Flex ON and Confine OFF (B) Flex OFF and Confine ON
(C) Confine ON and Flex ON @) Confine OFF and Flex OFF
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205.

206.

207.

208.

209.

210.

211.

212.

213.

Manager requires a report on employee details based on the Employee ID passed during the run
time. For this requirement you will create a bind parameter, say P EMPID, what will be the
correct syntax to include it into the SQL statement?

(A) P_EMPID (B) @P_EMPID
(C) &P_EMPID @):r_cvpriD
Choose the correct sequence of operation of report triggers.

(A) Before Parameter form — After Parameter form — Between Pages — After Report —
Before Report

(B) After Parameter form — Before Parameter form — Before Report — Between Pages —
After Report

.Before Parameter form — After Parameter form — Before Report — Between Pages —
After Report

(D) Before Report — Before Parameter form — Between Pages — After Parameter form —
After Report

To display a pop-up message (errors or warnings) in the Reports Builder to the user, which of
the following has to be used?

(A) User Define Column .SRW Package
(C) Report Triggers (D) Report Parameters

To dynamically error out the report with a pop-up message to the user if no parameters are
entered during the execution in the tool, optimally which of the following triggers have to be
used?

.After Parameter Form Trigger (B) Format Trigger

(C) Before Report Trigger (D) Data Model Trigger
Which of the following is Class C IP address?

(A) 15.1.148.143 (B) 224.223.185.163

(C) 130.85.46.74 .221.165.46.70
Where is a Hub specified in the TCP/IP Model?

(A) Transport Layer .Physical Layer

(C) Application Layer (D) Internet Layer

What is the principle reason to use a private IP address on an internal network?
(A) Subnet strategy for private companies

.Manage and scale the growth of the internal network

(C) Conserve public IP addresses so that we do not run out of them

(D) Allow access reserved to the devices

A Company wants to establish a redundant network connection between the hosts. What would
be the appropriate topology for this requirement?

(A) Ring Topology (B) Star Topology

(C) Bus Topology .Mesh Topology
Where does routing occur within the DoD TCP/IP reference model?
(A) Application layer (B) Physical layer
(C) Transport layer .Internet layer
Which of the following protocol is used by Ping utility?

(A) IGMP &@cvr

(C) ARP (D) RARP
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215.

216.

217.

218.

219.

220.

221.

Which command is used to check the connection status to and from your computer?
(A) NETSTAT (B) IPCONFIG
(C) IFCONFIG @rinG

After you configure an IP address and subnet mask on a Windows 7 PC, you want to check the
configuration and confirm that the IP and subnet is configured, which of the below command is
used.

(A) PING (B) TRACEROUTE
@rconric (D) IFCONFIG

A company is planning to set up a Local Area Network with 50 hosts. They also want all those 50
hosts to get connected to the internet. Which one of the following network devices should the
company use?

.Switch, Router and Cables (B) Hub and Router
(C) Switch and Cables (D) Router and Cables

A company is running with 50 computers connected to 2 Switches. Which one of the following
twisted pair cables they need to use to connect those 2 switches?

(A) Fiber Optic Cable .Cross Over Cable

(O) Roll Over Cable (D) Straight Through Cable

Which one of the following is a benefit of using a hierarchical network addressing scheme?
(A) Auto-negotiation of media rates

(B) Efficient utilization of MAC addresses

(C) Improves communications between devices

.Ease of management and troubleshooting

Unix Operating System(OS) is

(A) Multi tasking Single User OS .Multi tasking Multi User OS

(C) Single task Multi User OS (D) Single task Single User OS

A file sized 1026 bytes occupies how much disk space if size of a block is 1024 bytes?
(A) 1026 (B) 1024

@052 (D) 4096

Identify the appropriate options to invoke RMAN utility in order to perform backup of the
container database CDBRetailNC.

Choice (i):
$ export ORACLE_SID=CDBRetai INC
$ rman target /

Choice (ii):
$ export ORACLE_SID=CDBRetai INC
$ rman target sys/*****

Choice (iii):

$ rman

RMAN> connect target CH##ERS_DBA/*****@CDBRetai INC
(A) Only choices (i) and (ii) (B) Only choices (ii) and (iii)
(C) Only choices (i) and (iii) .All choices (i), (ii) and (iii)
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223.

224.

225.

226.

227.

228.

229.

230.

231.

You are a DBA of XYZ Wealth management company. The container database ABD FIN is
running in NOARCHIVELOG mode. You want to take partial backups of the database. Which
of the following statement is TRUE with respect to partial backups?

I.  Partial backups are possible when the datafiles are in ONLINE status
II. Partial backups are possible when the datafiles are in OFFLINE status
@ony n (B) Only I

(C) Both I and II (D) Neither I nor II

You are managing the databases of NetConnect InfoTech. While checking the status of the redo
log files you found that one redo log file is in the status UNUSED.

Which of the following statement is TRUE with respect to the online redo log files?

.UNUSED status denotes that the online redo log file is newly created and has not been
written/used

(B) UNUSED status denotes that the online redo log file is not currently being used

(C) UNUSED status denotes that the online redo log file is corrupted

(D) UNUSED status denotes that the online redo log file has been archived

Identify wrong statement/s.

I. Domain is a security boundary.

II. Domain is a physical boundary.

III. You cannot set the domain functional level to a value that is lower than the forest functional

level.
Al (B) II and 111
.Only I (D) All Statements I, II and I1I
Checksums use arithmetic.
.one's complement arithmetic (B) two's complement arithmetic
(C) either (A) or (B) (D) None of the above
In cyclic redundancy checking, what is the CRC?
.The remainder (B) The dividend
(C) The divisor (D) The quotient
The divisor in a cyclic code is normally called the
(A) Redundancy (B) Degree
.Generator (D) None of the above
Single-bit errors are least likely type of error in
(A) parallel data transmission .serial data transmission.
(C) unidirectional transmission (D) bidirectional transmission

What is the baud rate of a digital signal that employs Differential Manchester encoding and has
a data rate of 1000 bps?

(A) 500 baud (B) 1000 baud

@2000 baud (D) 4000 baud

In the OSI model, which layer performs encryption or data compression?

(A) Application (B) Network

(C) Data Link .Presentation

The class of digital encoding schemes solves the synchronization problem by ensuring
that each bit has some type of signal change.

.Manchester (B) NRZ

(C) 4B/5B (D) Both (A) and (B)
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232.

233.

234.

23S.

236.

237.

238.

239.

240.

241.

242.

243.

244.

Which sub-layer of the data link layer performs data link functions that depend upon the type
of medium?

(A) Logical link control layer .Media access control sub-layer
(C) Network interface control sub-layer (D) None of the above
Rearrangement of the fragments is done using the field.

@ oftset (B) Flag

(O TTL (D) Identifier

N = number of bits in the packet R = average rate T = transmission rate, the intensity of the
traffic is given by the formula

@r1 (B) NT/R

(C) T/NR (D) NTR

In a synchronous modem, the digital-to-analog converter transmits signal to the
.Equalizer (B) Demodulator

(C) Modulator (D) Generator

How many different topologies can be implemented when connecting four routers using high
speed, medium speed and low speed lines per pair

(A) 12 (B) 64

@2 (D) 257

A weak or corrupt signal is by a repeater.

.Regenerated (B) Amplified

(O) Rerouted (D) Re-sampled

A bridge that operates in promiscuous mode is

(A) Remote Bridges .Transparent Bridges
(C) Source routing (D) Selective flooding

Transfer of a packet between two hosts of the same LAN through different intermediate LANs
is

(A) Routing (B) Diverting

. Tunnelling (D) Forwarding

The variation in arrival times of packets in an audio or video streaming is called
(A) Delay Difference .Jitter

(C) Load shedding (D) Early detection

The routing protocol used by routers connected to autonomous systems is
(A) OSPF (B) RIP

@scr (D) IGMP

The command used to find whether a system on the network is alive

(A) Ping (B) Tracert

(C) Grep @ 5Both (A) and (B)

A packet in the network is discarded if

.TTL expires (B) Checksum error occurs
(C) Packet is encrypted (D) Fragment control fails
Which of the following applications use UDP protocol

(A) TFTP (B) DNS

@rr (D) SSH
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246.

247.

248.

249.

250.

251.

252.

253.

254.

Challenge response passwords are used for
(A) Authorization .Authentication
(C) Repudiation (D) Encryption

If parameters such as the receipt of acknowledgements are used to deduce congestion in the
network, it is called

.Implicit feedback algorithm (B) Explicit feedback algorithm

(C) Implicit feed forward algorithm (D) Explicit feed forward algorithm

The routing algorithm used in MANETS: is

(A) Shortest Path First (B) Distance Vector Protocol

(C) Routing Information Protocol .Adhoc On Demand Distance Vector Protocol
A network in which there is no hierarchy or central control and all the nodes are symmetric is
(A) Client server technology (B) MANET

.Peer to Peer (D) All of the above

The delay metric in distance vector routing is

(A) Number of hops (B) Geographical distance

.Queue length (D) Number of neighbours

In the context of a large network of 100 nodes and 600 links, select the correct option regarding
1,2 and 3

[1] Link state protocols have a higher computational overhead when compared to distance
vector protocols.

[2] Link State Protocol cannot avoid persistent loops whereas a distance vector protocol (with
split horizon) avoids these loops.

[3] The rate of convergence is higher in a link state protocol as compared to a distance vector
protocol, during a topology change

(A) [1], [2], and [3] are all true (B) [1], [2], and [3] are all false
(O) [1] and [2] are true, but [3] is false . [1] and [3] are true, but [2] is false

Let the size of congestion window of a TCP connection be 64 KB when a timeout occurs. The
round trip time of the connection is 10 msec and the maximum segment size used is 4 KB. The
time taken (in m sec) by the TCP connection to get back to 64 KB congestion window is

.110 to 130 (B) 80 to 100

(C) 1100 to 1300 (D) 1500 to 1700

The bit rate of Ethernet when Manchester encoding is used is

(A) One-Eighth of the baud rate (B) Twice the baud rate
(C) Same as the baud rate .Half of the Baud rate

The probability that ONLY one station transmits in a given time slot, given n stations and p
probability for each station to transmit is

@ :rpa-p-! (B) (1-p)™!
(C) 1-(1-p)*! (D) p(1-p)™!

In a token ring network the transmission speed is 108 bps and the propagation speed is 400
metres/us. The 1-bit delay in this network is equivalent to

.4 metres of cable (B) 20 metres of cable
(C) 2 metres of cable (D) 5 metres of cable
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256.

257.

258.

259.

260.

261.

262.

263.

The protocol that uses both TCP and UDP is termed as

(A) SMTP (B) Telnet

(C) FTP @on~s

Which among the following is a key exchange protocol for security
(A) DES (B) Triple DES

@ pitfic-Hellman (D) RSA

Networks working on different protocols can be connected using
(A) Switches (B) Proxy Servers
(C) Hubs .Gateways

Calculate the total time to transmit a 1200 KB file over a link, assuming the one way delay in
either direction is 20ms, and no RTT. (Note: 1 KB =210 bytes, 1 Mbps = 10° bits/s). The bandwidth
is 1 Mbps, the packet size including the header is 1 KB of which the header is 40 bytes, and the
data packets are sent continuously and never lost.

(A) 10 B) 12

@10.25 (D) 12.52

Suppose that the ALOHA protocol is used to share a 64 kbps satellite channel. Suppose that
frames are 1000 bits long. Find the maximum throughput of the system in frames/second.

(A) 13 @u
(O) 12 D) 10
Suppose that a group of 10 stations is serviced by an Ethernet LAN. How much bandwidth is

available to each station if (a) the 10 stations are connected to a 10 Mbps Ethernet hub; (b) the
10 stations are connected to a 10 Mbps Ethernet switch.

(A) 10, 10 (B) 10,1
@:. M)1,1
A forwarding table for a router in a network using CIDR is given below:
Address prefix Next hop
200.0.0.0/5 A
192.0.0.0/2 B
128.0.0.0/2 C
0.0.0.0/0 D

If the router receives a packet with destination 199.42.13.37, what will the next hop be?

(WA @s

(O)e D)D

Consider a point-to-point link 4 km in length. At what bandwidth would propagation delay (at
a speed of 2 x 108 m/s) equal transmit delay for 80-byte packets?

@32 Mbps (B) 8 Mbps

(C) 5 Mbps (D) 10 Mbps

Consider a 100-Mbps Ethernet with a single store-and-forward switch in the path and a packet
size of 12,000 bits. Assume that each link introduces a propagation delay of 10us and that the

switch begins retransmitting immediately after it has finished receiving the packet. The latency
from first bit sent to last bit received is

(A) .20 ms (B) .14 ms
(C) .28 ms @26 ms

AOU-A | 33 [ P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


264.

265.

266.

267.

268.

269.

270.

271.

272.

273.

274.

The bandwidth necessary for transmitting Video at a resolution of 640 x480, 3 bytes/pixel, 30
frames/second in real time is (assuming no compression)

(A) 26.8 MB/s (B) 25 MB/s
@):7.6 mB/s (D) 30 MB/s

Suppose there is a 10 Mbps microwave link between a geostationary satellite and its base station
on Earth. Every minute the satellite takes a digital photo and sends it to the base station. Assume
a propagation speed of 2.4 x 108 m/s. The propagation delay of the link is

@150 ms (B) 180 ms

(C) 100 ms (D) 120 ms

The command used to find the list of directories is

(A) Ls -1 (B) Is —Itr

@ 1| grep ~a (D) Is -1d

The technique used for protecting a critical section in Linux is

(A) Lock Step (B) Program lock

@ spintock (D) Setlock

A message is authenticated using in SSL.

(A) MAC (Message Access Code) .MAC (Message Authentication Code)

(C) MAC (Machine Authentication Code) (D) MAC (Machine Access Code)
S/MIME is an acronym for

(A) Secure/Multimedia Internet Mailing Extensions

(B) Secure/Multipurpose Internet Mailing Extensions

(C) Secure/Multimedia Internet Mail Extensions

.Secure/Multipurpose Internet Mail Extensions

The command used to get the size of hdisk0 in an AIX LPAR set of virtual disks is

(A) Isdev (B) Iquervpv

(C) Isattr .Getconf

The command used to update the logging of logical volume in IBM AIX is
(A) Isaatr (B) Iscfq

@ c1ss (D) Isdev

The action performed by the following command on a new hard disk hdl in AIX is
chdev -I hdl -a pv=yes

(A) Makes the disk available for use (B) Changes the existing pvid on the disk to Yes
(C) Clears volume group locks .Sets the physical volume identifier

The directory in which AD files are stored in order to create a Central Store for Group Policy
Management templates is

@) \FQDN\SYSVOL\FQDN\policies (B) \FQDN\SYSVOL\FQDN\PolicyDefinitions
(C) \FQDN\SYSVOL\policies (D) \FQDN\SYSVOLA\PolicyDefinitions

What type of DNS query requires the DNS server receiving the request to take full responsibility
for resolving the name?

(A) Authority (B) Iterative
(C) Name Server .Recursive
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275.

276.

2717.

278.

279.

280.

281.

282.

283.

The functions of a domain controller are

(A) Control granular settings in a domain environment

.Store the database, maintain the policies and provide authentication of domain logons
(C) Receive and relay domain commands

(D) None of the above

The command-line utility required to create the domain controller installation media that includes
a copy of the AD DS database so that one can use the Install From Media (IFM) option in the
Active Directory Domain Services Configuration Wizard?

(A) adprep.exe . ntdsutil.exe

(C) Ifmdump.exe (D) dcdump.exe

Consider the following statements:

I.  Domain local groups may have members from anywhere in the tree or forest
II. Universal groups may be placed in any group in the forest

III. Global Groups cannot be given permissions to any resource in the same domain
Which one of the following is false ?

(A) I only (B) I and I1

.III only (D) None of the above

The diagnostic logging results in an MS Exchange Server are located in

(A) Security Event Log in the Event Viewer

.Application Event Log in the Event Viewer

(C) Diagnostic log in the exchange logging tool

(D) Exchange Event log in the Event Viewer

The tool that allows configuration of a user/group to override the global message size limit is
referred as

(A) Message quotas (B) Exchange Limits
.Delivery Restrictions (D) Disk Space Partitions

The log that is required to be saved periodically for recovery/repair of backed-up/damaged
storage groups is called

(A) Active Directory Transaction Log .Transaction Log

(C) Storage Information Log (D) Secondary Storage Group Log
The Banker's algorithm is used

(A) to rectify deadlock (B) to detect deadlock

.to prevent deadlock (D) to slove deadlock

Which of the commands listed below launches the Remote Desktop Connection utility the
Windows Operating System?

@ istsc (B) MMC
(C) SERVICES.MSC (D) EXPLORER

The technology that allows multiple operating systems to work simultaneously on the same
hardware is known as:

.Virtualization (B) Clustering
(C) Hyperthreading (D) Load balancing
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284.

28S.

286.

287.

288.

289.

290.

291.

292,

293.

294.

295.

296.

The usage of FIPS 140-2 standard for backups is enabled in Backup Exec by using type of
encryption

(A) 64-bit Advanced Encryption Standard  (B) 128-bit Advanced Encryption Standard
.256-bit Advanced Encryption Standard (D) 512-bit Advanced Encryption Standard
The instrument that can be used to find the location of a cable short is termed as

(A) Multimeter (B) CSU/DSU

(C) Protocol analyser .TDR

Two network switches that do not support MDI-X need to be connected via copper cabling. The
cabling method that needs to be used is

(A) Straight (B) Rollover

.Crossover (D) Loopback

The protocol used to exchange information between two autonomous systems is
(A) EIGRP @:xcr

(O IGP (D) OSPF

The connector used for serial connections is

(A) RJ-45 (B) RJ-75

(C) BNC @rs-232

Man in the middle attacks can be prevented by

(A) Encryption .Authentication

(C) ACL (D) Pop Blocker

Prevention of broadcast storms can be performed by enabling

(A) Port Mirroring (B) DHCP

.Spanning Tree (D) Bonding

The method used for data transfer in a star ring topology is

(A) CSMA/CA (B) CHAP

(C) CSMA/CD .Token passing

TPM is an acronym for

(A) Trusted Platform Mode .Trusted Platform Module
(C) Trusted Privacy Module (D) True Platform Module
The method used for transmitting IPV6 traffic over a IPV4 network is

(A) Subnetting . Tunneling

(C) Supernetting (D) Contracting

Which of the following cannot contain multiple Active Directory domains?
.Organizational units (B) Sites

(C) Trees (D) Forest

Which of the following tools are used to modify the settings in a security template?

(A) Active Directory Users and Computers .Security Templates snap-in

(C) Group Policy Object Editor (D) Group Policy Management console
Which of the following rule types applies to files with an .msi extension?

(A) Executable rules .Windows Installer rules

(C) Script rules (D) Packaged app rules
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297.

298.

299.

300.

Which of the following tools cannot enable and disable the Network Discovery firewall rules?

(A) File Explorer (B) Network and Sharing Center

.Action Center (D) Allowed Apps dialog box

In which of the following file formats can Symantec Backup Exec 2014 reports be generated?
(A) DOC (B) TXT

@y (D) RTF

Which scheduling policy is most suitable for a time-shared operating System?

(A) Shortest Job First .Round robin

(C) FCFS (D) Elevator

Consider the following two statements:

I. Logical data independence is easier to achieve than physical data Independence
II. Views are virtual in databases

Which of the following is true?

.Both are true (B) Both are false

(C) Only I is true (D) Only II is true
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